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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q.1. He stood up from their chair to signal

the end of the meeting.

1. up from his

2. upon of his

3. No improvement required
4. below in their

Answer: 1. up from his
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Q.2 Shubham and | was watching football

match in our bedroom.

1. | were watched

2. | were watching

3. | am watching

4. No improvement required

Answer: 2. | were watching
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Q.3 Select the correctly spelt

word.

1. Influnce
2. Influence
3. Influance
4. Influennce

Answer: 2. Influence
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Q.4 Select the most appropriate meaning

of the given idiom.

Out for the count '

1. Very expensive |M|
2. Prepared for battle

3. In a deep, insensible sleep
4. Ready for scrutiny

Answer: 3. In a deep, insensible
sleep
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Q.5 Select the most appropriate synonym
of the given word.
Modest

1. Bold

2. Humble

3. Dismal

4. Grave

Answer: 2. Humble
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Q.6 Most of the / freshwater lake in India /
are in the / Himalayan region.
1. Himalayan region

2. Most of the

3. are in the

4. freshwater lake in India

Answer: 4. Replace lake with
lakes
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Q.7 The brightest stars / can
be 30,000 times / most

luminous / than the Sun.
1. The brightest stars

2. most luminous

3. can be 30,000 times
4. than the Sun

Answer: 2. Replace most with
more
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8. We have been trying to (1)/ find out the
root cause(2)/ of this recurring problem (3)/
since the last four days(4)

4)‘'Since the last four days’ @t
STg  ‘for the last four days’
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9. If | would have come (1)/ a
little earlier | would have (2)/ got
a glimpse (3)/ of my beloved

leader.(4)

(1)‘If | would have come’ #t S ‘If
| had come’ g T
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Q.10 Select the most appropriate synonym
of the given word.
Callous

1. Brutal

2. Problematic

3. Large

4. Humane

Answer: 1. Brutal
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Q.11 Could vyou spell your name
, please?

1. weakly
2. hever
3. again
4. forever

Answer: 3. again
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Q.12 The courses provided by the training
institute were more then enough .
1. more than enough

2. more enough

3. most enough

4. No improvement required

Answer: 1. more than
enough



SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q.13 Select the most appropriate meaning of
the given idiom.
To walk the tight rope

1. Be an expert

2. Be very cautious |M|
3. Be well trained

4. Be very nervous

Answer: 2. Be very
caittiniie
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Q.14 Land revenue was one of the / major
source of income / for Britishers in India.

1. No error
2. Land revenue was one of the

3. major source of income —
4. for Britishers in India |MI

Answer: 3. replace source with
sources
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Q.15 Pilots must be at all times to keep
their passengers safe during the flight.

1. thirsty

2. distant

3. vigilant

4. forceful

Answer: 3. vigilant
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Q.16 Select the most appropriate ANTONYM
of the given word.
Wicked

1. Evil

2. Sinful

3. Errant

4. Moral

Answer: 4. Moral
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Q.17 Select the most appropriate synonym of
the underlined word.

Medicines should be ordered by the generic
name, not by the proprietary or frade name.

1. Exclusive
2. General
3. Individual
4. Specific

Answer: 2. General
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Q.18 Ms. Gupta expressed her for my
political understanding.
1. admiration

2. location

3. strength

4. compassion

Answer: 1. admiration
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Q.19 Select the most appropriate meaning of the
underlined idiom.

When those thugs come near you, run at the
drop of a hat.

1. Be dressed for a party —

2. With all your belongings |M|
3. Go on a short trip

4. Without delay Answer: 4. Without delay
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Q.20 He is / struggling to make / a

honest living.

1. struggling to make
2. No error

3. a honest living

4. He is

Answer. 3. Replace a with
an
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